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INTERMEDIATE EXAMINATION – 2021 (ANNUAL) 

I.Com. 

Model Set 

Economics(OPT).

le;%& 3 ?kaVs 15 feuV 

Time:- 3 hours 15 minute            
 
dqy iz’uksa dh la[;k % 100 $ 30 $ 8 ¾ 138      
Total No. of questions : 100 $ 30 $ 8 ¾ 138 

 

Instructions for the candidates :- 

1- ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa gh mÙkj nsaA 

Candidates are required to give answers in their own words as far 

as practicable. 

2- nkfguh vksj gkf’k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA 

Figures in the right hand margin indicate full marks. 

3- bl iz’u i= dks /;kuiwoZd i<+us rFkk funsZ’kksa ds vuqikyu ds fy, 15 feuV dk 

vfrfjDr le; fn;k x;k gSA 

15 minutes of extra time has been allotted for the candidates to 

read the questions and follow the instructions carefully. 

4- ;g iz’u&i= nks [k.Mksa esa gS]  ,oa  

This question paper has two sections: Section-A and Section-B. 

Subject Code :- 219 

iw.kkZad & 100 
Full Marks -100 
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5- [k.M&v esa 100 oLrqfu"B iz’u gSa] izR;sd ds fy, 1 vad fu/kkZfjr gSA ftuesa ls 

fdUgha 50 iz’uksa dk mÙkj nsuk gSA budk mÙkj miyC/k djk;s x;s OMR&’khV 

esa fn;s x;s lgh òÙk dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj ds 

OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk OMR ’khV esa iz;ksx djuk euk 

gS] vU;Fkk ijh{kk ifj.kke vekU; gksxkA ;fn dksbZ ijh{kkFkhZ 50 iz’uksa ls vf/kd 

mÙkj nsrs gS rks izFke 50 iz’uksa ds mÙkj dh gh tk¡p gksxhA 

In Section-A, there are 100 objective type questions, each 

carrying 1 mark, out of which 50 questions are to be answered. 

Darken the circle with black/blue ball pen against the correct 

option on OMR Sheet provided to you. Do not use 

Whitener/Liquid/Blade/Nail on OMR Sheet, otherwise the result will 

be treated as invalid. If any candidate answers more than 50 

questions, then first 50 answers will be evaluated. 

6- [k.M&c esa 30 y?kqmÙkjh; iz’u gSa] ftuesa ls fdUgha 15 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 2 vad fu/kkZfjr gSA blds vfrfjDr  

esa 08 nh?kZ mÙkjh; iz’u Hkh fn, x, gSa] ftuesa ls fdUgha 04 iz’uksa dk mÙkj nsuk 

vfuok;Z gSA izR;sd iz’u ds fy, 05 vad fu/kkZfjr gSaA 

In Section-B, there are 30 Short answer type questions, out of 

which any 15 questions are to be answered. Each question carries 

2 marks. Apart from this, there are 08 Long answer type questions 

in Section-B, out-of which any 04 questions are to be answered. 

Each question carries 5 marks. 
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7- fdlh izdkj ds bysDVªkWfud midj.k dk bLrseky iw.kZr;k oftZr gSA 

Use of any electronic appliances is strictly prohibited.

Section- A 

iz'u la[;k 1 ls 100 rd ds izR;sd iz’u ds lkFk pkj fodYi fn, x, gSa] ftuesa ls 

,d lgh gSA vius }kjk pqus x, 50 iz’uksa ds lgh fodYi dks OMR&’khV ij fpfUgr 

djsaA izR;sd ds fy, 1 vad fu/kkZfjr gSA     50 x 1=50 

Question No.- 1 to 100 have four options, out of which only one is 

correct. You have to mark, your selected option of 50 questions, on the 

OMR-Sheet. Each question carries 1 (one) mark.   50 x 1 = 50 

1- O;kf"V vFkZZ’kkL= esa lfEefyr gksrh gS %& 

A- O;fDrxr bdkbZ   B- NksVh&NksVh bdkbZ  

C- O;fDxr ewY; fu/kkZj.k  D- mi;qZDr lHkh 

Micro economics includes:- 

A. Individual unit    B. Small units 

C. Individual price determination D. All the above 

2- miHkksDrk O;ogkj dk v?;;u fd;k tkrk gS %& 

A- lw{e vFkZ’kkL= esa 

B- vk; fo’ys"k.k esa   

C- lef"V vFkZ’kkL= esa 

D- mi;qZDr esa ls dksbZ ugha 
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Consumer behaviour is studied in:- 

A. Micro economics 

B. Income analysis  

C. Macro economics 

D. None of the above 

3- mRiknu ds fuEu esa dkSu&ls lk/ku gS\ 

A. Hkwfe     B- Je 

C. iw¡th     D.  mi;qZDr lHkh  

Which of the following is a factor of production? 

A. Land    B. Labour 

C. Capital   D. All the above. 

4- mRiknu lEHkkouk oØ dk <ky fxjrk gS % 

A- ck;sa ls nk;sa    B- nk;sa ls ck;sa   

C- Åij ls uhps   D- uhps ls Åij 

The slope of a production possibility curve falls :  

A. From left to right   B. From right to left  

C. From top to bottom  D. From bottom to top. 

5- Lkk/kuksa ds LokfeRo ds vk/kkj ij vFkZO;oLFkk gksrh gS % 
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A- dsUnzhd`r ;kstuko) vFkZO;oLFkk  B- cktkj vFkZO;oLFkk  

C- fefJr vFkZO;oLFkk    D- mijksDr lHkh 

On the basis of the ownership of the resources economy is :  

A. Centrally planned economy  B. Market economy 

C. Mixed economy    D. All the above 

6- mi;ksfxrk dk lEcU/k fdlls gksrk gS\ 

A- ykHknk;drk ls    B- uSfrdrk ls  

C- ekuo vko’;drkvksa dh iwfrZ ls  D- buesa ls lHkh 

Utility is related to what? 

A. Usefulness    B. Morality 

C. Satisfaction of human wants  D. All of these 

7- dkWQh ds ewY; esa o`f) gksus ls pk; dh ek¡x % 

A- c<rh gS   B- ?kVrh gS  

C- fLFkj jgrh gS  D- bues ls dksbZ ugh 

With the rise in the price of coffee the demand of tea : 

A. Rises   B. Falls 

C. Remains stable  D. None of these 

8- ek¡x esa ifjorZu dk fuEufyf[kr esa dkSu&lk dkj.k gS\ 

A. miHkksDrk dh vk; esa ifjorZu  B. lEcfU/kr oLrqvksa dh dher esa ifjorZu 
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C. tula[;k òf)   D- buesa ls lHkh 

Which is a reason of change in demand? 

A. Change in consumer’s income   

B. Change in price of related goods 

C. Increase in population     

D. All of these 

9- ,d _tqjs[kh ek¡x oØ ds e/; fcUnq ij ek¡x dh yksp% 

A- ’kwU; gksxh   B- bdkbZ gksxh 

C- vuUr gksxh   D- buesa ls dksb ugh 

The elasticity of demand at the mid-point of a straight line demand 

curve will be : 

A. Zero    B. Unity 

C. Infinity    D. None of these 

10- vYidkyhu mRiknu Qyu dh O;k[;k fuEufyf[kr esa fdl fu;e ds }kjk dh 

tkrh gS\ 

A- ek¡x ds fu;e ls   B. ifjorZu’khy vuqikr ds fu;e }kjk 

C. iSekus dsa izfrQy fu;e }kjk  D. ek¡x dh yksp }kjk 

Which of the following law explains the short-run production 

function? 
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A. Law of demand    B. Law of variable proportion 

C. Returns to scale  D. Elasticity of demand 

11- vYidkyhu mRiknu dh n’kk esa ,d foosd’khy mRiknd fdl voLFkk rd 

mRiknu djuk ilUn djsxk\ 

A- izFke voLFkk   B- f}rh; voLFkk 

C- r`rh; voLFkk   D- buesa ls dksbZ ugha 

In which stage of production a rational producer likes to produce in 

short-rum production? 

A. First stage   B. Second stage 

C. Third stage   D. None of these 

12- ifjorZu’khy vuqikr dk fu;e mRiknu dh rhu voLFkkvksa dh ppkZ 

djrk gS] mRiknu ds izFke pj.k esa& 

A- lhekUr vkSj vkSlr mRiknu nksuksa c<rsa gS   

B. lhekUr mRiknu c<rk gS 

C. vkSlr mRiknu fxjrk gS    

D. lhekUr mRiknu ’kwU; gksrk gS 

Law of variable proportion explains three stages of production, in 

the first stage of production:  

A. Both MP and AP rise  B. MP rises 
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C. AP falls     D. MP is zero 

13- vYidkyhu mRiknu izfØ;k esa fuEufyf[kr esa ls dkSu&lk lk/ku gksrk gS\ 

A. fLFkj lk/ku    B. ifjorZu’khy lk/ku 

C.  A rFkk B nksuksa   D.  buesa ls dksb ugha 

Which factor among the following we find, in short-run production 

process? 

A. Fixed factor   B. Variable factor 

C. A and B both    D. None of these 

14- mi;ksfxrk dh eki dh tk ldrh gS % 

A- eqnzk ds }kjk    B- oLrqvksa ds fofue; }kjk 

C- oLrqvksa ds otu }kjk  D- bues ls dksb ugha 

Utility can be measured by:- 

A. Money    B. Exhange of goods 

C. Weight of good s  D. None of these 

15-  tc vkSlr mRikn (AP) vf/kdre gksrk gS] rc lhekUr mRikn (MP) : 

A- vkSlr mRikn ds leku gksrk gS   

B- vkSlr mRiknu ls de gksrk gS 

C- vkSlr mRiknu ls vf/kd gksrk gS 

D- mijksDr lHkh 
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When the Average product (AP) is maximum, the marginal Product 

(MP) is :- 

A. Equal to AP   B. Less than AP 

C. More than AP   D. All the above 

16- mRiknu esa òf) ds lkFk&lkFk dqy ykxr ,ao dqy ifjorZu’khy ykxr esa varj% 

A- ?kVrk tkrk gS   B- c<rk tkrk gS 

C- fLFkj jgrk gS   D- bues ls dksb ugh 

With the increase in output, the difference between total cost and 

total variable cost : 

A. Decreases   B. Increases 

C. Remains constant  D. None of these 

17- vYidky esa mRiknu izfØ;k esa fuEufyf[kr esa dkSUk&ls lk/ku gksrs gS\ 

A- fLFkj lk/ku    B- ifjorZu’khy lk/ku 

C- A vkSj B nksuks   D- buesa ls dksb ugh 

Which of the following factors are in short run production process? 

A. Fixed factors   B. Variable factors 

C. Both A and B   D. None of these 

18- vkSlr ykxr oØ dk vkdkj gksrk gS& 

A- U v{kj tSlk   B- ledks.kh; vfrijoy; tSlk 
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C. X v{k dh lekukUrj js[kk  D- buesa ls dksb ugh 

The shape of average cost curve is :- 

A. U-shaped    B. Rectangular hyperbola shaped 

C. Line parallel to x-axis  D. None of these 

19- QeZ dk ykHk fuEufyf[kr esa ls fdl ’krZ dks iwjk djus ij vf/kdre gksxk\ 

A- tgk¡ MR=MC    

B. tgk¡ MC oØ js[kk ij MR dks uhpsa ls dkVs 

C. A vkSj B nksuksa  

D- buesa ls dksb ugh 

With which condition, firm will get maximum profit? 

A. Where MR=MC    

B. Where MC curve cuts MR from below 

C. Both A and B    

D. None of these 

20- iwfrZ esa deh ds fuEufyf[kr esa dkSu&lk dkj.k gS\ 

A- mRiknu ykxr esa òf)  B- LFkkukiUu oLrqvksa dh dherksa esa òf) 

C- m|ksxksa esa QeksZa dh la[;k esa deh D- mi;qZDr lHkh 

Which of the following is a reason for decrease in supply?  
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A. Increase in production cost   

B. Increase in price of substitutes  

C. Fall in number of firms in the industries   

D. All the above 

21- es=o dk vFkZ gS fd iwfrZ dh yksp % 

A- iw.kZr% ykspnkj gS   B- iw.kZr% csykspnkj gS 

C- de ykspnkj gS   D- bdkbZ ykspnkj gS 

es=o means that elasticity of supply is- 

A. Perfectly elastic   B. Perfectly inelastic 

C. Less elastic    D. Unity elastic 

22- ,dkf/kdkjh izfr;ksfxrk dh fuEufyf[kr esa dkSu&lh fo’ks"krk gS\ 

A- foHksnhd`r mRiknu   B- foØ; ykxr 

C- cktkj dk viw.kZ Kku  D- mi;qZDr lHkh 

Which one is a feature of monopolistic competition? 

A. Differentiated production   

B. Selling cost 

C. Imperfect knowledge  of market  

D. All the above 

23- fdl cktkj esa vkSlr vk; lhekUr vk; ds cjkcj gksrh gS\ 
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A- iw.kZ izfr;ksfxrk   B- vYikf/kdkj 

C- viw.kZ izfr;ksfxrk   D- ,dkf/kdkj 

In which market, average revenue is equal to marginal revenue? 

A. Perfect competition  B. Oligopoly 

C. Imperfect competition  D. Monopoly 

24- oLrq dh dher ,ao ek¡x ds chp izfrykse lEcU/k ik;k tkrk gS% 

A- dsoy ,dkf/kdkj esa   

B- dsoy ,dkf/kdkj izfr;ksfxrk esa 

C- ,dkf/kdkj ,ao ,dkf/kdkjh izfr;ksfxrk nksuksa esa  

D- dsoy iw.kZ izfr;ksfxrk esa 

There is inverse relation between price and demand for the 

product of a firm under:- 

A. Only monopoly    

B. Only monopolistic competition  

C. both under monopoly and monopolistic competition  

D. Only perfect competition. 

25- foHksnhd`r mRiknu] fo’ks"krk gS& 

A- dsoy ,dkf/kdkjh izfr;ksfxrk dk   

B- dsoy vYikf/kdkj dk 

C- ,dkf/kdkjh izfr;ksfxrk ,oa vYikf/kdkj nksuksa dk 
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D- ,dkf/kdkj dk 

Differentiated product is a characteristic of :-  

A. Only monopolistic competition  

B. Only oligopoly 

C. Both monopolistic competition and oligopoly   

D. Monopoly 

26- ek¡x esa ifjorZu ds fuEufyf[kr esa ls dkSu ls dkj.k gSa\ 

A- miHkksDrk dh vk; esa ifjorZu B- lEcfU/kr oLrqvksa dh dher esa ifjorZu 

C- tula[;k òf)   D- mi;qDrZr lHkh 

Which of the following is a reason of change in demand? 

A. Change in consumer’s income 

B. Change in price of related goods 

C. Population increase    

D. All of these 

27- buesa ls dkSu ,dkf/kdkj QeZ ds larqyu dh ’krZ ugh gS\ 

A- vkSlr vk; = lhekUr ykxr   

B- lhekUr vk; = lhekUr ykxr 

C- lhekUr ykxr oØ lhekUr vk; oØ dks uhps ls dkVs    

D- A ,ao C nksuksa 
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Which is not  a condition for equilibrium of a monopoly firm? 

A. Average revenue = marginal cost   

B. Marginal revenue = marginal cost  

C. Marginal cost curve should cut the marginal revenue curve from 

below 

D. Both A and C 

28- ,d QeZ dk ek¡x oØ iw.kZ ykspnkj gksrk gS % 

A- iw.kZ izfr;ksfxrk esa   B- ,dkf/kdkjh izfr;ksfxrk esa 

C- ,dkf/kdkj esa   D- vYikf/kdkj esa 

Demand curve of a firm is perfectly elastic under : 

A. Perfect competition  B. Monopolistic compentition 

C. Monopoly    D. Oligopoly 

29- fuEu esa ls dkSu lk dFku lgh gS\ 

A- Je dh ek¡x mRiknd }kjk dh tkrh gS 

B- Je dh ek¡x mldh mRikndrk ij fuHkZj djrh gS 

C- Je dh lhekUr mRikndrk mldh vf/kdre etnwjh gksrh gS 

D- mi;qDr lHkh 

Which of the following statement is correct? 

A. Labour demand comes from producers    
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B. Demand of labour depends on its productivity  

C. Marginal productivity of labour is its maximum wage  

D. All the above 

30- lef"V vFkZ’kkL= ds {ks= esa fuEufyf[kr esa dkSu lk v/;;u fo"k; lfEefyr gS\ 

A- vk; ,ao jkstxkj ds fl)kar B- lkekU; dher Lrj ,ao eqnLQhfr 

C- O;kikj pØ dk fl)kUr  D- mi;qDr lHkh 

Which subject is included in the subject matter of macro 

economics? 

A. Income and employment theory   

B. General price level and inflation  

C. Theory of trade cycle 

D. All the above 

31- lef"V vFkZ’kkL= v/;;u gS& 

A- vFkZO;oLFkk esa jkstxkj ds volj dk 

B- oLrqvksa dh iwfrZ fu;e dk  

C- LdwVj esa ek¡x dh yksp dk  D- cktkj esa xsgw¡ dh dher 

Macro economics studies: 

A. Employment opportunities in economy 

B. Supply theory of goods. 
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C. Elasticity of demand in scooter 

D. Price of wheat in market 

32- ifjokj QeksZa dks] fuEufyf[kr esa dkSu&lh lsok,¡ iznku djrs gSa\ 

A- Hkwfe     B- Je 

C- iw¡ft vkSj v|e   D- mi;qZDr lHkh 

Which services are provided by families to a firm?  

A. Land    B. Labour 

C. Capital and enterprises D. All the above 

33- pkj {ksf=; ek¡My esa fuEufyf[kr esa dkSu ’kkfey gS\ 

A- ifjokj] QeZ] m|ksx   B- ifjokj] QeZ] ljdkj 

C- ifjokj] QeZ] ljdkj] fons’kh {ks= D- buesa ls dksb ugh 

Which one is included in four-sector model? 

A. Family, Firm, Industry   

B. Family, Firm, Government 

C. Family, Firm, Government, Foreign sector 

 D. None of these 

34- rr̀h;d {ks= ds vUrxZr fuEu esa ls dkSu&lh lsok lfEefyr gS\ 

A- [kuu     B- fuekZ.k 

C- lapkj    D- i’kqikyu 
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Which service is included in tertiary sector? 

A. Mining    B. Construction 

C. Communication   D. Animal husbandry 

35- ,d vFkZO;oLFkk esa dkSu&lk {ks= lfEeyr jgrk gS\ 

A- izkFkfed    B- f}rh;d 

C- r`rh;d    D- ;sa lHkh 

Which sector is included in an economy? 

A. Primary    B. Secondary 

C. Tertiary    D. All these 

36- NNPMP = ? 

A-  GNPMP - f?klkoV    B- GNPMP + f?klkoV  

C- GNPMP + vizR;{k dj   D- buesa ls dksb ugh 

NNPMP=? 

A. GNPMP - depreciation   B. GNPMP + depreciation 

C. GNPMP + indirect tax   D. None of these 

37- f?klkoV O;; fdlesa lfEEkfyr jgrk gS\ 

A- GNPMP     B. NNPMP 

C. NNPFC     D. fdlh esa ugh 
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Depreciation expenses are include in : 

A- GNPMP     B. NNPMP 

C. NNPFC     D. None of these 

38- fuEufyf[kr mís’; ls [kjhnh xbZ oLrq,¡ vfUre oLrq,¡ dgykrh gS% 

A- vko’;drkvksa dh larqf"V gsrq  B- QeZ esa fuos’k gsrq 

C- A vkSj B nksuksa    D- mi;qZDr esa ls dksb ugh 

Goods purchased for the following purpose are final goods : 

A. For satisfaction of wants  B. For investment in firm 

C. Both A and B    D. None of the above 

39- f}rh;d {ks= esa fuEufyf[kr esa ls dkSu lh lsok,¡ lfEefyr gS\ 

A- chek     B- fofuekZ.k 

C- O;kikj    D- cSfdax 

Which of the following services are included in secondary sector? 

A. Insurance    B. Manufacturing 

C. Trade    D. Banking 

40- jk"Vªh; vk; esa fuEufyf[kr esa fdls lfEefyr fd;k tkrk gS\ 

A- gLrkUrj.k Hkqxrku   B- ’ks;j ,ao ck¡.M dh fcØh ls izkIr jkf’k 

C- dkys /ka/ks ls izkIr vk;  D- buesa ls dksb ugha 
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  Which one is included in National Income 

A. Transfer payment   

B. Sale proceeds of shares and bonds 

C. Income from Black money 

D. None of these 

41- eqnzk ds xkS.k dk;Z ds vUrxZr fuEufyf[kr esa fdls ’kkfey fd;k tkrk gS\ 

A- LFkfxr Hkqxrku dh eku  B- ewY; dk lap; 

C- ewY; gLrkUrj.k   D- ;sa lHkh 

Which one is included in the secondary function of money? 

A. Standard of deferred payment  

B. Store of value 

C. Transfer of value   

D. All these 

42- eqnzk ds dk;ksZ esa lfEefyr gS % 

A- ewY; fu/kkZj.k djuk  B- ewY; lafpr djuk 

C- fofue; dk ek/;e   D- ;sa lHkh 

Functions of money include : 

A. Value determination  B. Store of value 

C. Means of exchange  D. All these 
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43- fdl fof/k }kjk ge cSad ls eqnzk fudky ldrs gSa\ 

A- vkgj.k i=    B- psd 

C- ,0 Vh0 ,e    D- mi;qZDr lHkh 

Through which method can we withdraw money from bank ? 

A. Withdrawal form   B. Cheque 

C. ATM    D. All the above 

44- O;kikfjd cSad fdl izdkj ds _.k nsrs gSa\ 

A- uxn lk[k    B- vf/kfod"kZ 

C- _.k ,ao vfxze   D- mi;qZDr lHkh 

What type of loan is advanced by commercial banks ? 

A. Cash credit   B. Overdraft 

C. Loan and advances  D. All the above 

45- O;kolkf;d cSad dk izeq[k dk;Z D;k gS\ 

A- lk[k fu;U=.k djuk  B- vU; cSad dks _.k nsuk 

C- xzkgdksa ls tek Lohdkj djuk D- mi;qZDr lHkh 

What are the main function of commercial banks ? 

A. Credit control    

B. Give loan to other banks 

C. Accept deposits from customers   
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D. All the above 

46- ls.Vªy cSad vkWQ bf.M;k D;k gS\ 

A- O;kikfjd cSad   B- dsUnzh; cSad 

C- futh cSad    D- bues ls dksb ugha 

What is Central Bank of India? 

A. Commercial Bank  B. Central Bank 

C. Private Bank   D. None of these 

47- O;kolkf;d cSad % 

A- uksV fuxZeu djrk gS  B- xzkgdksa ls tek Lohdkj djrk gS 

C- xzkgdksa dks _.k nsrk gS  D- dsoy B vkSj C 

Commercial Bank : 

A. Issue currency notes  B. Accept deposits from customers 

C. Provide loan to customers D. Only B and C 

48- dsUnzh; cSad ds fuEufyf[kr esa dkSu&ls dk;Z gSa\ 

A- uksV fuxZeu dk ,dkf/kdkj B- ljdkj dk cSadj 

C- fons’kh fofue; dks"kksa dk laj{kd D- mi;qZDr lHkh 

Which of the following is the function of Central bank? 

A. Monopoly of issuing notes  

B. Banker of the Government  
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C. Custodian of foreign exchange reserves  

D. All the above 

49- ns’k esa dkxth uksV tkjh djus dk dk;Z fuEu esa ls dkSu djrk gSa\ 

A- O;kolkf;d cSad   B- dsfUnz; cSad 

C- fo’o cSad    D- vkS/kksfxd cSad 

Which one of the following issue paper currency in the country? 

A. Commercial bank  B. Central bank 

C. World bank   D. Industrial bank 

50- dsUnzh; cSad lk[k fu;U=.k fdlds tfj;s djrh gS\ 

A- cSad nj ds tfj,   B- [kqys cktkj izfØ;k ds tfj;s 

C- lh0 vkj0 vkj0 ds tfj,  D- mi;qZDr lHkh 

Central bank controls credit through which? 

A. Bank rate    B. Open market operations 

C. CRR    D. All the above 

51- ekSfnzd uhfr ds izeq[k mís’; D;k gSa\ 

A- mRiknu ,ao jkstxkj esa òf) B- fons’kh fofue; nj dh fLFkjrk 

C- ewY; fLFkjrk   D- mi;qZDr lHkh 

What are the major objectives of monetary policy? 

A. Increase in output and employment    



23 
 

B. Stability in foreign exchange rate 

C. Price stability   D. All the above 

52- lk[k eqnzk dk foLrkj gksrk gS tc CRR? 

A- ?kVrk gSA    B- c<rk gSA 

C- ,0 ch0 nksuksa   D- buesa ls dksb ugh 

Credit money is increased when CRR?  

A. Falls    B. Rises 

C. Both A and B   D. None of these 

53- fuEufyf[kr esa ls dkSu dsUnzh; cSad dk eq[; dk;Z ugh gS\ 

A- cSadks dk cSad    

B- uksV tkjh djuk 

C- dsUnzh; ljdkj dk cSadj] ,tsUV ,oa lykgdkj   

D- buesa ls dksb ugh 

Which of the following is not the function of Central Bank ? 

A. Bank of banks    

B. Issuing currency notes 

C. The banker, agent and advisor of Central Government  

D. None of these 

54- nwljh ujflEge lfefr dk xBu fdl o"kZ gqvk Fkk\ 
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A- 1978 esa    B- 1991 esa 

C- 1997 esa    D- 1998 esa 

In which year the second Narsimham committee was constituted? 

A. In 1978    B. In 1991 

C. In 1997    D. In 1998 

55- cSafdx yksdiky ;kstuk ds dk;Z{ks= ds vUrxZr fuEufyf[kr esa fdls ’kkfey 

fd;k x;k gS\ 

A- lHkh vuqlwfpr cSad   B- lgdkjh cSasd 

C- okf.kfT;d cSad   D- mijksDr lHkh 

Which is included in the purview of Banking Ombudsman scheme? 

A. All the scheduled banks B. Co-operative banks 

C. Commercial bank  D. All the above 

56- Hkkjrh; cSafdx iz.kkyh dk laj{kd dkSu gS\ 

A- fjtoZ cSad vkWQ bf.M;k  B- LVsV cSad vkWQ bf.M;k 

C- ;wfuV VªLV vkWQ bf.M;k  D- Hkkjrh; thou chek fuxe 

Who is the custodian of Indian banking system? 

A. Reserve bank of India  B. State bank of India 

C. Unit Trust of India  D. LIC of India 

57- Hkkjr esa cSfdax {ks=ksa dk lq/kkj fdl o"kZ ’kq: gqvk]\ 
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A- 1969 esa    B- 1981 esa 

C- 1991 esa    D- 2001 esa 

Banking sector reforms in India began in which year? 

A. In 1969    B. In 1981 

C.  In 1991    D. In 2001 

58- ^iwfrZ Lo;a ek¡x dk lt̀u djrh gS^ fuEufyf[kr esa fdlus izfrikfnr fd;k\ 

A- ts0 ch0 ls0 us   B- ts0 ,l0 fey us 

C- dhUl us    D- fjdkMksZ us 

“Supply creates its own demand”. Who propounded this law? 

A. J.B Say    B. J.S Mill 

C. Keynes    D. Ricardo 

59- fofu;ksx dh ek=k esa òf) gksus ds lkFk&lkFk] MEC- 

A- o<+rh jgrh gS   B- ?kVrh jgrh gS 

C- fLFkj jgrh gS   D- buesa ls dksb ugha 

With the increase in investment, MEC :- 

A. Rises    B. Falls 

C. Remains constant  D. None of these 

60- fuEufyf[kr esa ls okLrfod fuos’k gS % 

A- ’ks;j [kjhnuk   B- iqjkuh QSDVªh [kjhnuk 
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C- Hkouksa dk fuekZ.k   D- cSad esa tek [kkrk [kksyuk 

Real Investment in the following is :- 

A. Purchase of shares   

B. Purchase of old Factory 

C. Construction of Buildings   

D. Opening Deposit Account in the bank 

61- lkewfgd ek¡x ds izeq[k ?kVd D;k gS \ 

A- O;fDrxr miHkksx    B- lkoZtfud miHkksx  

C- fofu;ksx     D- mi;qZDr lHkh 

What are the components of aggregate demand ? 

A. Individual Consumption B. Public Consumption 

C. Investment   D. All the above 

62- dhUl ds vFkZO;oLFkk esa U;wu ek¡x dh n’kk dks fuEufyf[kr esa fdl uke ls 

iqdkjk tkrk gS \ 

A- iw.kZ jkstxkj larqyu  B- viw.kZ jkstxkj lUrqyu 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Which of the following is known as the state of Deficient demand in 

Keynesian Economy ? 

A. Perfect employment equilibrium 



27 
 

B. Imperfect employment equilibrium 

C.Both A and B 

D. None of these 

63- fuEufyf[kr esa fdlds vuqlkj ^^etnwjh dVkSrh vFkZO;oLFkk esa iw.kZ jkstxkj dh 

n’kk dks LokHkkfod <ax ls cuk;s j[krh gS** \ 

A- ihxw     B- dhUl 

C- ek’kZy    D- buesa ls dksbZ ugha 

“Wage cut maintains full employment in the economy”. Who put 

forward this view ? 

A. Pigou    B. Keynes 

C. Marshall    D. None of these 

64- dhfUl;u cpr fuos’k n`f"Vdks.k ds vuqlkj vk;&jkstxkj lUrqyu fu/kkZj.k 

fuEufyf[kr esa fdl fcUnq ij gksxk \ 

A- S > I    B. I > S 

C. I = S    D- buesa ls dksbZ ugha 

According to Keynesian saving-investment view-point, income-

employment equilibrium will be determined at which point ? 

A. S > I    B. I > S 

C. I = S    D. None of these 
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65- vk; ,oa mRiknu ds lUrqyu Lrj ij lkewfgd ek¡x esa òf) gksus ij 

fuEufyf[kr esa fdlesa o`f) gksrh gS \ 

A- jkstxkj    B- mRiknu 

C- vk;     D- mi;qZDr lHkh 

Increase in aggregate demand of equilibrium level of income and 

production causes increase in which of the following ? 

A. Employment   B. Production 

C. Income    D. All the above 

66- dhUl us fofu;ksx xq.kd dk fopkj fuEufyf[kr esa fdlls izkIr fd;k\ 

A- dkgu ds vk; xq.kd  B- dkgu ds miHkksx xq.kd  

C- dkgu ds jkstxkj xq.kd  D- buesa ls dksbZ ugha 

From which one of the following Keynes derived Investment 

Multiplier idea? 

A. Kahn’s Income Multiplier  

B. Kahn’s Consumption Multiplier 

C. Kahn’s Employment Multiplier 

D. None of these 

67- dhUl ds fofu;ksx xq.kd dk ewY; ij fuHkZj gS & 

A- vk; dk Lrj   B- iw¡th dh lhekUr mRikndrk 

C- lhekUr miHkksx izo`fr  D- fofu;ksx dh ek=k 



29 
 

The value of Keynesian Investment Multiplier depends on :- 

A. Income level    

B. Marginal productivity of capital 

C. Marginal propensity to consume 

D. Investment level 

68- ;fn MPC = 0.5 rks xq.kd K gksxk \ 

A- 
ଵ

ଶ
     B- 1 

C- 2     D- 0 

If MPC = 0.5, then multiplier (K) will be ? 

A- 
ଵ

ଶ
     B- 1 

C- 2     D- 0 

69- voLQhfrd vUrjky dh n’kkvksa esa & 

A- ek¡x esa rsth ls òf) gksrh gS 

B- iwfrZ esa rsth ls o`f) gksrh gS 

C- iwfrZ ,oa ek¡x nksuksa cjkcj gksrh gS 

D- buesa ls dksbZ ugha 

In the situation of deflationary gap : 

A. Demand increases rapidly. 

B. Supply increases rapidly. 
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C. Both demand & supply are equal 

D. None of these 

70- vfrjsd ek¡x mRiUu gksus ds fuEufyf[kr esa dkSu&ls dkj.k gSa\ 

A- lkoZtfud O;; esa òf)  B- eqnzk dh iwfrZ esa o`f) 

C- djksa esa deh    D- mi;qZDr lHkh 

Which of the following is a reason of appearing surplus demand ? 

A. Increase in public Expenditure 

B. Increase in Money supply 

C. Decrease in Taxes 

D. All the above 

71- iw.kZ jkstxkj ds vkxs dh lkewfgd ek¡x rFkk iw.kZ jkstxkj okyh lkewfgd ek¡x ds 

vUrj dks O;Dr djrk gS & 

A- LQhfrd vUrjky   B- voLQhfrd vUrjky 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

The difference between the Aggregate Demand at above full 

employment and Aggregate Demand at full employment is known 

as : 

A. Inflationary Gap   B. Deflationary Gap 

C. Both A and B   D. None of these 
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72- voLQhfrd vUrjky fdldh eki crkrk gS \ 

A- U;wu ek¡x dh   B- vkf/kD; ek¡x dh 

C- iw.kZ lUrqyu dh   D- buesa ls dksbZ ugha 

Deflationary Gap shows the measurement of which? 

A. Deficient Demand  B. Surplus Demand 

C. Full Equilibrium   D. None of these 

73- dhUl us vFkZO;oLFkk esa vfrjsd ek¡x dh n’kk dks fdl uke ls iqdkjk gS \ 

A- iw.kZ jkstxkj lUrqyu  B- viw.kZ jkstxkj lUrqyu 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

In Keynesian economy, the state of surplus demand is called as: 

A. Full Employment Equilibrium 

B. Incomplete Employment Equilibrium 

C. Both A and B 

D. None of these 

74- U;wu ek¡x dks Bhd djus ds fuEufyf[kr esa dkSu&ls mik; gSa \ 

A- jktdks"kh; mik;   B- ekSfnzd mik; 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Which one of the following is the Corrective measure for Deficient 

Demand ? 
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A. Fiscal measure   B. Monetary measure 

C. Both A and B   D. None of these 

75- dsUnzh; cSad fuEufyf[kr esa fdlds }kjk ek=kRed lk[k fu;U=.k j[krk gS \ 

A- cSad nj    B- [kqysa cktkj dh fØ;k,¡ 

C- udn dks"k vuqikr esa ifjorZu D- mi;qZDr lHkh 

Which of the following method, Central Bank adopts for Controlling 

quantitative credit? 

A. Bank Rate    

B. Open market operations 

C. Change in cash reserve ratio 

D. All the above 

76- U;wu ek¡x dks Bhd djus ds fy, fuEufyf[kr esa dkSu&ls ekSfnzd mik; fd, tk 

ldrs gSa \ 

A- cSad nj esa deh    

B- [kqysa cktkj ls izfrHkwfr;k¡ [kjhnuk 

C- udn dks"k vuqikr dks de djuk 

D- mi;qZDr lHkh 

Which monetary measure may be adopted to Correct Deficient 

Demand? 

A. Reduction in Bank Rate  
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B. Buying Securities from open market 

C. Reducing Cash Reserve Ratio 

D. All the above 

77- LQhfrd vUrjky dks Bhd djus ds fy, izeq[k jktdks"kh; mik; dkSu&ls gS \ 

A- lkoZtfud O;; esa dVkSrh  B- djksa esa òf) 

C- lkoZtfud _.kksa esa òf)  D- mi;qZDr lHkh 

Which fiscal measure is to be adopted for correcting Inflationary 

Gap? 

A. Reduction in Public Expenditure     

B. Increase in taxes 

C. Increase in Public Debt     

D. All the above 

78- Hkkjr dk foÙkh; o"kZ gS & 

A- 01 vizSy ls 31 ekpZ  B- 01 tuojh ls 31 fnlEcj 

C- 01 vDVwcj ls 30 flrEcj  D- buesa ls dksbZ ugha 

Financial year in India is - 

A. April 01 to March 31   

B. January 1 to December 31 

C. October 01 to September 30 



34 
 

D. None of these 

79- ctV ds la?kVd fuEufyf[kr esa dkSu gS \ 

A- ctV izkfIr;k¡   B- ctV O;; 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Which is a component of Budget ? 

A. Budget Receipt s  B. Budget Expenditure 

C. Both A and B   D. None of these 

80- ctV izkfIr;ksa ds la?kVd fuEufyf[kr esa dkSu gS \ 

A- jktLo izkfIr;k¡   B- iw¡thxr izkfIr;k¡ 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Which is a component of Budget Receipt ? 

A. Revenue Receipts  B. Capital Receipts 

C. Both A and B   D. None of these 

81- ljdkj ds dj jktLo esa 'kkfey gS % 

A- vk;dj     B- fuxe dj 

C- lhek 'kqYd    D- mi;qZDr lHkh 

Tax revenue of the Government includes : 

A. Income tax   B. Corporate tax 

C. Custom Duty   D. All the above 
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82- fuEufyf[kr esa ls dkSu izR;{k dj gS \ 

A- vk; dj    B- migkj dj 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Which of the following is Direct tax ? 

A. Income tax   B. Gift tax 

C. Both A and B   D. None of these 

83- fuEufyf[kr esa ls dkSu vizR;{k dj gS \ 

A- mRikn 'kqYd   B- foØh dj 

C- lhek 'kqYd    D- buesa ls lHkh 

Which of the following is an indirect tax ? 

A. Excise Duty   B. Sales tax 

C. Custom Duty   D. All the above 

84- fuEufyf[kr esa ls dkSu&lk ljdkj dk iw¡thxr O;; gS \ 

A- C;kt dk Hkqxrku   B- edku dk Ø; 

C- e’khujh O;;   D- buesa ls lHkh 

Which of the following is Capital expenditure of the government ? 

A. Interest Payment  B. Purchase of House 

C. Expenses on Machinery D. All of these 

85- ctV esa lfEefy gS & 
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A- vkxe ?kkVk    B- foÙkh; ?kkVk 

C- izkjfEHkd ?kkVk   D- buesa ls lHkh 

Budget includes? 

A. Revenue Deficit   B. Fiscal Deficit 

C. Primary Deficit   D. All of these 

86- Hkkjr esa laln ctV dks lkekU;r% Lohd`fr ns nsrh gS & 

A- 28 Qjojh rd   B- 01 ekpZ rd 

C- 15 ekpZ rd   D- 31 ekpZ rd 

Indian Parliament generally approves budget : 

A. up to Febuary 28  B. up to March 01 

C. up to March 15   D. up to March 31 

87- izkFkfed ?kkVk gksrk gS % 

A- foÙkh; ?kkVk&C;kt Hkqxrku B- foÙkh; ?kkVk $ C;kt Hkqxrku 

C- A vkSj B nksuksa   D- mijksDr esa ls dksbZ ugha 

Primary Deficit is : 

A. Fiscal Deficit - Interest Payment 

B. Fiscal Deficit + Interest Payment 

C. Both A and B 

D. None of the above 
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88- ctV fuEufyf[kr izdkj ds gksrs gS & 

A- larqfyr ctV   B- vkf/kD; dk ctV 

C- ?kkVsa dk ctV   D- mijksDr lHkh 

Budget are of the following types : 

A. Balanced Budget  B. Surplus Budget 

C. Deficit Budget    D. All of the above 

89- fuEu esa ls dkSu lk jktdks"kh; ?kkVs ls gksus okyk [krjk gS \ 

A- voLQhfrdkjh ncko  B- LQhfrdkjh ncko 

C- A vkSj A nksuksa   D- buesa ls dksbZ ugha 

Which of the following is a danger of Fiscal Deficit ? 

A. Deflationary Pressure  B. Inflationary Pressure 

C. Both A and B   D. None of these 

90- fuEu esa ls dkSu ljdkj }kjk m/kkj ysus ds dkj.kksa dh vksj /;ku vkdf"kZr djrk 

gS \ 

A- jktdks"kh; ?kkVk   B- izkFkfed ?kkVk 

C- jktLo ?kkVk   D- mi;qZDr lHkh 

Which of the following indicates the reason of borrowings by the 

Government ? 

A. Fiscal Deficit   B. Primary Deficit 

C. Revenue Deficit   D. All the above 



38 
 

91- ^ctV* fuEu esa ls dkSu lk 'kCn gS \ 

A- ySfVu    B- teZu 

C- Ýsp     D- buesa ls dksbZ ugh 

Which of the following word is ‘Budget’ ? 

A. Latin    B. German 

C. French    D. None of these 

92- vk;dj dk ykHk izkIr gS & 

A- dsUnz ljdkj dks     

B- jkT; ljdkj dks 

C- dsUnz ljdkj ,oa jkT; ljdkj nksuksa dks  

D- mijksDr esa dksbZ ugh 

Benefit of Income tax is receivable by : 

A. Central Government   

B. State Government  

C. Both the Central & state Government 

D. None of the Above 

93- fofue; nj ds fuEufyf[kr esa ls dkSu&ls :Ik gS \ 

A- fLFkj fofue; nj   B- ykspiw.kZ fofue; nj 

C- A vkSj B nksuksa   D- buesa ls dksbZ ugha 

Which one of the following is a form of exchange rate ? 
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A. Fixed Exchange Rate  B. Flexible Exchange Rate 

C. Both A and B   D. None of these 

94- ykspiw.kZ fofue; nj ds fuEufyf[kr esa dkSu&ls xq.k gS \ 

A- ljy iz.kkyh   B- lrr lek;kstu 

C- Hkqxrku larqyu esa lq/kkj  D- mi;qZDr lHkh 

Which one of the following is a merit of flexible exchange rate ? 

A. Simple system    

B. Continuous Adjustments 

C. Improves balance of payment 

D. All the above 

95- ykspiw.kZ fofue; nj iz.kkyh ds fuEufyf[kr esa dkSu&ls nks"k gSa \ 

A- fuEu nj ds nq"ifj.kke  B- vfuf’prk 

C- vUrjkZ"Vªh; O;kikj esa vfLFkjrk D- mi;qZDr lHkh 

Which one of the following is a demerit of flexible exchange rate ? 

A. Bad effects of low Rate B. Uncertainty 

C. Instability in Foreign Trade D. All the above 

96- fons’kh fofue; cktkj ds :Ik gSa & 

A- pkyw cktkj    B- ok;nk cktkj 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha  
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The forms of foreign exchange market is : 

A. Spot market   B. Future market  

C. Both A and B   D. None of these 

97- Hkqxrku 'ks"k ds vUrxZr~ fuEufyf[kr esa dkSu&lh ensa lfEefyr gksrh gS \ 

A- n`’; ensa    B- vn ̀’; ensa 

C- iwath varj.k    D- buesa ls lHkh 

Which of the following items are included in balance of payment ? 

A. Visible items   B. Invisible items  

C. Capital transfer   D. All of these 

98- vn`’; enksa ds varxZr~ fuEufyf[kr esa dkSu&lh ensa lfEefyr gksrh gSa \ 

A- cSafdax     B- tgktjkuh 

C- lapkj    D- mi;qZDr lHkh  

Which of the following is invisible items of balance of Payment ? 

A. Banking    B. Shipping  

C. Communication   D. All the above 

99- pkyw [kkrsa dh fuEufyf[kr esa dkSu&lh ensa gSa \ 

A- n`’;enksa dk vk;kr   B- i;ZVdksa dk [kpZ 

C- n`’; enksa dk fu;kZr~  D- mi;qZDr lHkh  

Which on of the following is an item of Current Account ? 
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A. Import of visible item  B. Expenses of Tourists  

C. Export of visible item  D. All the above 

100- fuEufyf[kr esa ls dkSu Hkqxrku 'ks"k ds ?kVd gSa \ 

A- pkyw [kkrk    B- iw¡th [kkrk 

C- A vkSj B nksuksa    D- buesa ls dksbZ ugha  

Which of the following is the component of balance of Payment? 

A. Current Account  B. Capital Account  

C. Both A and B   D. None of these  

Section-B

Short Answer Type Questions

iz’u la[;k 1 ls 30 rd y?kq mÙkjh; gSaA buesa ls fdUgha 15 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 2 vad fu/kkZfjr gSaA       (15x2=30) 

Question no. 1 to 30 are Short answer type. Answer any 15 questions. Each 

question carries 2 marks.    (15x2=30) 

1- jk"Vªh; vk; ys[kkadu ds D;k mi;ksx gS \ 

What are the uses of national income Accounting ? 

2- jk"Vªh; vk; rFkk izfr O;fDr vk; esa varj fyf[k;sA 

Distinguish between national income and per capita income. 

3- GNP ds vkdyu esa fdu enksa dks vioftZr ekuk x;k gS \ 
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What are the items excluded from GNP’s calculation? 

4- eqnzk ds pkj dk;Z fy[ksaA 

Write the four functions of money.  

5- ^^eqnzk fofue; dk ek/;e gS**A Li"V dhft,A 

“Money is a medium of exchange”. Explain. 

6- ,d O;kikfjd cSad ds fdUgha pkj dk;ksZa dks fy[ksaA 

Write any four functions of a Commercial Bank. 

7- dsUnzh; cSad ,oa O;kikfjd cSad ds fdUgha nks vUrj dks crk,¡A 

State any two differences between central bank and commercial 

bank. 

8- dsUnzh; cSad ds fdUgha nks dk;kZs dks crkb,A 

State any two functions of the central bank. 

9- Ikgyh ujflEge lfefr dh nks izeq[k flQkfj’ksa crkb,A 

Mention two main recommendations of first Narsimham 

Committee. 

10- lkewfgd ek¡x dk D;k vFkZ gS\  

What is the meaning of Aggregate Demand?  

11- ^^cpr ,oa fuos’k lnSo cjkcj gksrs gSa\** O;k[;k dhft,A 

Saving and investment are always equal. Explain. 

12- ^^vfrjsd ek¡x LQhfrd vUrjky dks crkrh gSA** Li"V djsaA 

“Excess demand shows inflationary gap.” Clarify. 

13- ekSfnzd uhfr ls D;k vfHkizk; gS\  
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What do you mean by Monetary Policy? 

14- cSad nj D;k gksrh gS \ 

What is bank rate? 

15- Lkjdkjh ctV ds fdUgha nks mís’;ksa dks le>kb,A 

Explain any two objectives of Government Budget. 

16- Lkjdkjh ctV dk voaVu dk;Z Li"V dhft,A 

Explain the allocation function of a Government budget. 

17- fofue; nj dk D;k vFkZ gS\ 

What is meant by exchange rate? 

18- Hkqxrku 'ks"k dh ifjHkk"kk nhft,A 

Define balance of Payment. 

19- iw¡th [kkrk dks ifjHkkf"kr djsaA 

Define Capital Account. 

20- lw{e vFkZ’kkL= ds pkj egÙo fy[ksaA 

Write four importance of micro economics. 

21- iw¡thoknh vFkZO;oLFkk esa dsUnzh; leL;kvksa dk lek/kku dSls gksrk gS \ 

How the central problems are solved in Capitalistic Economy? 

22- ctV lsV rFkk ctV ykbu esa vUrj Li"V dhft,A 

Explain the distinction between budget set and budget line. 

23- Ekk¡x esa deh djus okys pkj fu/kkZjd rRoksa dks crkb,A 

State four factors causing decrease in demand. 

24- Ekk¡x js[kk rFkk ek¡x Qyu dk D;k rkRi;Z gS\ Li"V dhft,A 
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What is meant by demand curve and demand function? Clarify. 

25- ek¡x dh yksp dks ifjHkkf"kr dhft,A  

Define elasticity of demand. 

26- mRiknd ds lUrqyu ls D;k vfHkizk; gS\  

What is meant by producer’s equilibrium? 

27- fdlh oLrq dh ^iwfrZ* ,oa ^LVk¡d* ds fdUgha nks vUrj dks crkb,A 

State any two differences between ‘supply’ and ‘stock’ of goods?  

28- iwfrZ dh dher yksp dk D;k vfHkizk; gS \ 

What does price elasticity of supply mean ? 

29- vYikf/kdkjh cktkj esa QeZ ijLij fuHkZj D;ksa gksrh gS \ 

Why are firms interdependent in oligopoly market ? 

30- ,dkf/kdkjkRed dh ^izos’k esa ck/kk,¡* fo’ks"krk dk egÙo le>kb,A 

Explain the significance of ‘barriers to entry’ feature of monopoly.

Long Answer Type Questions

iz’u la[;k 31 ls 38 rd nh?kZ mÙkjh; gSaA buesa ls fdUgha 4 iz’uksa ds mÙkj nsaA izR;sd iz’u 

ds fy, 5 vad fu/kkZfjr gSaA       (4x5=20) 

Question no. 31 to 38 are Long answer type. Answer any 4 questions. Each 

question carries 5 marks.      (4x5=20) 

31- O;f"V vFkZ’kkL= dk {ks= ,oa mldh 'kk[kk,¡ Li"V dhft,A 

Explain the scope and branches of Micro Economics. 

32- lhekUr mi;ksfxrk dk vFkZ fyf[k,A lhekUr mi;ksfxrk fo’ys"k.k esa miHkksDrk 

larqyu dh 'krsZ crkb,A 
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Write the meaning of marginal utility. State the conditions of 

consumer’s equilibrium in marginal utility analysis. 

33- Ekk¡x dk fu;e le>kb,A bl fu;e dh D;k ekU;rk,¡ gSa \ 

Explain the law of Demand. What are its assumptions? 

34- fuEu oLrq ,oa lkekU; oLrq esa vUrj Li"V dhft,A  

Distinguish between inferior goods and normal goods. 

35- ek¡x dh dher yksp dks izHkkfor djus okys rÙoksa dh ifjHkk"kk nsaA bls ekius dh 

nks fof/k;ksa dk laf{kIr o.kZu djsaA 

Define ‘the elements influencing price Elasticity of Demand’. Briefly 

explain any two methods of measuring it. 

36- mRiknu Qyu ls vki D;k le>rs gSa\ vYidkyhu ,oa nh?kZ dkyhu mRiknu 

Qyu esa vUrj crykb,A 

What do you understand by production function? Distinguish 

between short run and long run production function. 

37- vkSlr vkxe dh vo/kkj.kk Li"V dhft,A 

Explain the concept of AR. 

38- iwfrZ dh ifjHkk"kk nhft,A mu dkj.kksa dk mYys[k dhft, tks fdlh oLrq dh iwfrZ 

dks fu/kkZfjr djrs gSaA 

Define supply. Mention the causes which determine the supply of 

a commodity. 


